4Sfn6sE O A

L&< MA

BLHT 3
EEORS L

REREEMRIL T E X

EndL&<

EBEOEE ﬁﬁﬁ@]&(w&ﬁﬁéCtﬁF*é

AWEL EpSL&<U ZLWEL

j={Akcie)

EwdL&<V DA BHABL

%ﬁ%c%?éﬂiw

6BBOLERSE7E 1 8(8) T EBLBOBERE

MDA D
— —\‘*

c_t.-l

B<EEL

GH-ov7o

LWED

FLHAhLZEDKYIE &(ﬁ@'t@k@*%ﬂé

EpSL&L

, BBEOEE \
7z

ZLEWL

Fik L

EH/L%ZBJDTL‘TT\ ?e@Fﬁ’P?ﬁiT“
bij‘Ulﬁ‘ﬁb\ibJ:Do
oK% L/vM, =g 3= bm/»
*fLO)J:’E)#ﬁH\ %.51%!%‘3(7\ m% lfc
ENWEAETHF UL D, E_L’.)C_“é’x(i}%\ib
§ 22 BhiEEnFs I(fézéﬁiﬁ’éééé))
A ] X
Sl EwSICwS h Sl EwSICwS N
5<hDNENBHIF 5@9!.(&3‘)!?:‘[47_“;/\:0)!.%0)
EFAUS FTELLS HELD Eo&D
(@B bOWDIIF | #UA 0.5 (@ALUFLENADEY ( @FHET
5<H 50 | & 0.5 4B 20 | A4REE 20
FDU 0.2 Lk 1 LA LUA 15 | CeBb 20
INERR 6 ZEDRE 9 | A& 5
Th3Xh 1 ([ @FTELHA PFLENCA 6 | D& (£) 2
) 0.01 | 5500 (E) 18 ZE@E) 2 | WEIFEH 5.5
kK 7.5 | & 10 PO 0.5 | FREBEHKET 2
(T CKid) ZEDOn 9 LEdK 3.5 | HIUER-7k 110
ADEEIT 7 WiE 1.3 >
Q=AUD LESK 0.5 HYU A 1 (@@=
ZIES 20 | 15 0.7 7k 5 | e 30
A LA 12 (HIVE-EZUER K 115 N LiSK 1.6
DEZAICRL 10 HY A 0.6
SEE) 2 Bl U &7k 1.6
| 0.5 ~
LLDK 2
YE 1

7LILF—

L&>(E5

BRI ES |&cRELREBEUD

| %

b b

T M AEASEI AT
BULLERTT,

N RDAREOEE(E [T E
PELPIEEY hERSICREE R
B P T B35 ENBE T,

SHE e
IRDA—=T|3E

ICERLTLET,

%

\&
@7‘/14@“

3

CA,E"(_L&;:) HPC

3

OHIRNRT @

UENRA HPFI£DS AVEDUxD

)\ > B }fti(g)&()‘xﬁg

I Tt

J\—?—ff CF’—?—E@;M ’CTO

HoTHELSL

X%&ﬁ%ﬁt@%ﬁfﬁ4%£
2.7:‘)\3517k3%l/f:”)3'5:t7‘)‘\

WeadLed

Ht) ia‘@t:“?&( &V,

Fo>2> PoZSLEVKEVEA

%ﬁi @ 57}) FCRFFEERREME
045-662-2541

A5 La< L F A LnEl

FCRELREBEMBE

HPS W&IWELSLD HABL

RTEREHZEOCR

onfn 7 468 (+)

Y. *ﬁ’rﬁ/ﬂﬁﬁi excibate
—— EE
|-\/;¥,u<(;\ sCEEFRREMD | |

A= AN—IECELEE, o]

[ccezzxasve proens |EEY

X
kA Ewdlwd A <BNRY Ewdw> ) Sl EwSICwd )
FrovAO—R— RAQ=DH Y —AIC SEFEDHZIC WEDHHZ
RA=5=9> vLEY>4 ITAhBALS
(@F >rA0—2— (@RA—5—%> .771:1 nyY- A% (@ULEYSY (@ EDHTH (@IFABAT
FAPY () 30 | 250P 25 hO= FrAY 25 = 60 | AIBEIE 20
L&DW 1| B 10 %%W X 15 M=bI-vE=0) 10 L&dBs 12 | migls 5
B 0.5 | HPL 20 FERE 50 | L& 2 LsSK 1| 20 A 10
Cemld 35 | foEhRE 20 ICAUCA 10| LLo0 1 WiE 3.3 [ ICALA 8
ERE 30 | ICALA 10 /\t U 0.3 | ZF(H). 2 KRBELT 2.5 | JIFD 8
E—<> 20| Ledw 1.5 K 0.7 | KU Z4H 2.5 RBEHT 2 | E 8
L&D 0.5 | EF 2.3 NEH 2 | ZFim 1 HYUh 1.8 | CAlT®< 5
ICAlZ< 0.1 |1& 0.7 X=HD 2| LeEDW 2.2 B 1| %/ 0.5
Kl 0.7|2Lg> 0.02 F3 30 | BO¥E 0.7 Lk 10| LsOW 3.5
L&D 1.8 | 5 0.1 =L 30 | & 2.5 g 0.35
WiE 0.3 | TARA 0.8 BREM L, 5 (5L 0. 04 06&@51 LHYEELERK 110
% 0.45 | F¥>743Y 15 BF—X 1 FrAY 50
L&d 0.03 [ 7k 95 & 0.75 %é‘aw Y 0.3
CFh 0.3 L&D 0.02 L&OW 1.4
Thih 0.3 Lk 20 ¢ 0.2
L7k 0.4

\I?\}lﬁ?— 605kcal 7zAIX<HE 21.9g fEHE 18.7g)

\I*)Mf— 606kcal 7=AIE<HE 24.5g f5E 19.4g)

\I*}lﬁF‘— 580kcal 7zAIE<HE 24.8g FEHE 17.2g

Ix)LF— 645kcal 7=AIE<HE 27.3g BRE 23.0%}

IxIF— 62lkcal 7AIE<HE 28.92 BEE 22.2g)

\IZJL#— 622kcal 7wIE<H 24.4g FRHE 17.2g)

\I*}lﬂ\i— 585kcal Z=w(E<HE 28.9g fEHE 24.4&)

\I?\)lﬁf—'— 631kcal 7Z=A(F<HE 30.0g f5HE 21.5g

OB EFwSIw> ) FUHBIZA EFwSIw> ) LEZ A am9L@9 h CI3h E@SITe S ) ;uh 95w > )
FUavh—r _ ) 7vo120< B3 —EAD E<Cet 295 UDENI<HE Sy Hv—R=
FANSGHADIT— F—X VV—LR—=F *@Or [F5EHR— 7’ EWFElpZIlDWWIC 5w IDR—T
(@FVarh— O@TANSTHADYT— (@F*>SARANE (@Y U—LR— 7’ (@Y >3—H#NE (@IFZEHR—T (@MU o (@%p>UDiERHZ (@Y v HZ—FK— (@PER—TF
N OKkE) 3T | TARNSHX 20 IR 25 | KA FREY GHE) 30 | BRR 10 P 25 | ZwoU 50 BA (0 &) 15 | 3500 25
BH (0F) 20 | 2=ha-G-0) 12 gAY E) 0.5 l/@f)\t\%) 2 5% & 5 | KBTS 20 Cenlb 65 | HFL(R-xF) 1.5 WIRAT (R 2 | AKREE 20
feERE 60 | CALCA 5 FEhE 60 | == 20 HPL 30 | RE 10 eERE 55 | L&DW 0.3 Leng 60 | =ERE 10
b i G 35 | Lale< 0.2 [CACA 15 | 2Fok 9 FrAy 25 | 25 3 LA Ch 15 | HUA 0.3 feEhE 30 | AM=FI-y(t-1) 8
[CA LA 15 | ki 0.3 T 5| FACA 5 fEnE 20 | FHEH 3.5 Lo 15 & 0. 1 [CALCA 10 | 227 9
%ﬁ/[lél‘:—(il)b) . {?3 tgb:t > g (1)15 T;‘E’\/jg_ 7 028 if"ﬁi 02(7] F%\/B;u g :lé* e 0 ;: [// 5k 0 ; (@FEWFELRoOBYE %’E?;V g %; e 0 15
Mt - : ¥ P # St ! : &£ 4 D mET X : -
N "7 eF—x 5 bvieatpl 5| mal 40 Kid 0.7 | & 0.75 Wi 2 | ZWFOkE) 14 Lot 0.4 145 0.8
- vRE-U-Z 1.5 | BRI 2 ek Slsk&d 0. 02 HY A 1| BYdALRS 3 EAl=< 0.21cbe> 0,02
|‘7 NrFryT 5 = 0.35 5 0.7 Eh¥E 0.8 u_izﬁi 0.3 15 0.05 | oF (B) 2 Kl 0.7 | ZF# 0.2
hiRY —2R 2 ZLe> 001 | ZLe> 0. 01 ' 0.3 | F%743y 20 X 5 | EE 0.2 FebMTFry7 1| TASA 1
L&dw 1 .o : F+573 15 L&D 0.02 | 7k 90 ~ Ut 1.4 el 3.3 | 7H¥T743Y 20
PEACH 0.5 /A=y o FyrvIvy 0.2 FhiE 7 WiE 0.5 [k 90
ifnb N Oo.og 7 %}%;E/u o.g & K 5&@!&&% . g
L&D . . VBN ! \Yovy .
FORGE— 0.2 40> (7#p) F£T43Y 3 L7k 0.8 Th S 1
Lk 15 1/1218 L7 10 Lk 15
\I*}Hf— 612kcal 7=AIE<E 30.7g BEHE 23.8g) G*}L#’— 610kcal 7ZAIF<HE 25.6g FEHE IG.TgJ G%)b#— 592kcal fzA(E<HE 24.2¢ BEHE 16.1g) \I*)lﬁ?— 582kcal 7AIF<H 23.6g FRHE 15.0g) \I*}Iﬁ\f— 576kcal 7-AIE<HE 22.7g H5E 15.7g
UECBA F9SICd ) CECBA E9dCwd ) YRy ZFwdlwd ) i3k EwSIed ) £5/8y Epdlc )
VLECBADS YFZES LeBlnbobHbo PbYZH<ED bi)‘&')Z 7 WHLODIEERE HETHZ A0y RAIVEF+ARY
EVHRITISM4 HELD EbllbhA TIV—=ARNY =Dy A ESIDBADTELLS FESEMIFDR—
.U LECRBANE (@BTT (@YFZIE3 (@:REE .ﬂbUEEE (@bhrHR—F .L\b LoniEEE (@HEHZ [ =1=D%4 (@& M rDRA-T
T 5| Lepslb 20 ECHEEOL-2) 40 | FBREY () 10 Zyg 17 | fegh& 20 Wbl 45 | w5 U 15 a0y 80 | ¥BOP
R Y EE ) 3| eERE 30 R Y EE () 3| & 10 W_ 20 | ICALA 7 Thih 1.6 E‘JFbU\_/u 3 15 CRom) ANIREIE 10
ChUh 12 | 2% 9 [CACA 15 | ICALA 10 RYU SR 5| ZDELS 7 x4 0.8 | Lrow 2.9 hEY—2 1.5 | B 5
VL& 2| ADEET 5 L&d5n 0.8 | #4974 8 Ceonie 45 | DD () 3 13358 (k) BorE 1.3 9R¥-y-2 1.5 | k¥ b 20
cEE) 2 | RBEHLET 55 LLDW 15| ZI1F> 8 %—mm(*m) L&D 0.5 L&D 0.5 | B 2.7 kEhQE 10
Kim _ 0.5 | FREBFELE 2 w‘#ﬁ 1.3 | Z0&E/kF 5 ICAL 151E 0.7 Ledw 3.2 - O:M)bh#v*\‘/ CEDR 9
Ls>K 3.5 [ pECEDLK 110 i 1 L&adn 0.3 E— 7/ 8| ZL&> 0.02 Wi 2.3 (@ESBADTEL FrAY ZDER-T 5
Wi 1.3 L7k 3| L&ESK 0.8 ChIe< 8| CEim 0.2 HU A 0.8 | 8A L&35n 0.3
AUk 0.5 & 0.7 i 0.7 | F¥743y 20 Thih 0.3 | £5mA 25 L&dw 0.8
B ER-k 10 (@LeBVbOHY | TARA 0.5 La5K 5.5 7k 95 L7k 10 | & 10 & 0.5
h X Ceilb 45 | HYEELERK 120 Wi 2 A CA 5 ' 0.75
EVEZT54 LbrE 20 HU A 1.2 @7N=AY-Yth 15 ZDE:IT 5 L& 0. 02
EURCT4(CERL) 45 i 0.5 L7k 25 Ledn 0.3 Thh 1
B1Fm CRim) Lo 0.2 L&5w 0.5 FEYT4IY 10
0.3 15 0.7 Lk 100
;b;? 0. 01 Bl &k 110
G*)Iﬁ?— 606kcal 7=A(F<HE 24.4g fEHE 19.3g) \IZ~JI/=F— 642kcal 7=AlE<H 25.1g FEHE 20.8g) \I?\}Mi— 582kcal 7ZAIF<HE 27.8g FRHE 22.6g) \I$Jl/¥— 57%kcal 7AIE<H 24.5g FEHE IB.Og) \I?\}l/#—'— 635kcal 7calE<HE 26.1g F5E 26.0g
LECIZA ZFwSICHD ) F—ZXNY EwSIIwd ) Ci3h EwSTwd N @By E D1 A ) LESRA Ewd0Cw> )
EEVA(C) EEVRDUEDF L) ENBIS4 SHEeqa POBOBADIF WAK ~{25-Ziwgnvsednl- tUHEq:mh®<
byoR=7 PpENR-T Z<#EJ1r »ELB PR CETHA TW—YBB2I5KKw S HIFEEVWT HZELS
(@EE N (H) e 3| |(emz3541 OHRR—7 (O1OEDBANI (@EIFE (@M25-TRERAL- | S > 0.2 | |(@HIESTEAOR (@BIFLLT
&R 45 | BiE 1 §5h-v37774 60 | BRKA 10 DOH () FrAY 30 A () 40 | FE 743y 10 ;%m m\-gwk%) 35
nE_ 10 | B 1 #(Fh Cki) Censind 20 RYZE g =5y 10 =ERE 70 | %k 80 iz A3 A 3
Ladiy 0.5 | ZHE) 3 - FpAY 25 S A SR A 6| L&dW 1 ICACA 25 - . ﬁUE €:) 2 b,—lf,ﬂa(?klﬂa)
CAlc< 0.2 |48 0.1 [ EZ A E =] rmERE 20 B1F5h CKh) A 1 L& 0.2 (@ %£EbHZ E&) 15 1&
Kol 0.5 | Z s 0.4 =% 3| ICACA 15 L&D 1 (& 0.2 IZAl2< 0.1 | FvAY 40 WCh 10
el 2.2 FmEnE 30 | & 0. 85 L&D 3 KM 0.7 |Ew>Y 10 éf@t\/ult/u 3 [ @BHET
WiE 0.9 [@kysR—7 ~< k@) 20| CL&> 0. 02 WiE 2 (@&t INER 8 | C(H) 3 Ko 0.5 | mIB(F 5
B VW hyz . 15 7y 12 | 74,743y 15 AU A 1 ,aa;ﬁu 5 =AU T[Ls50 2.3 Lok 2 | FrAY 20
(AFZr> 13| LFER= 20 Ry F—= 10 |k 95 B 1 20 L= 1| ¥ 1.3 Wik 1.2 | mEhs 15
( @EELYAULEDFA w [CALA 3 [Chlc< 0.2 Thh 0.3 ;ijf; 9 bRMFry7 15 | B 2.3 B 1.5 | CE2m g
QLLyiLEnti 1 5 1 AU—7@m 05 7 | ABEaT 8 BY—X 2 & 01 iz 0.15 | Z#EFHE 5.5
SN B ks 06 15 0.3 FEESH 1.5 9AI=Y=2 2 . By &7k 5 | RBEHET 1.5
ELCA 3| 2L 0. 02 EZL&D 002 (HIVER- 7k 110 LiEDW 0.5 @FI—rIEoI5% HI U&7k 110
oLE =N 0.2 Wi 1 200m|
Lsd0 0.8 | F¥2743 20 271 @) :
ICAIZ< 0.1 Lk 105 m
Ix)F— 68Tkcal 7=AlE<HE 23.7¢ BRE 16.4g )

\17\)[«45— 6lakcal 7=AIE<HE 25.8g FRE 21.7g)




